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object[] array = new object[]
{
new int[]
{90,2089875171,90,1318285745,10,90,886806518,10,180},
...
};
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public interface IBlocksDeobfuscator {
bool ExecuteIfNotModified { get; }
void DeobfuscateBegin(Blocks blocks);
bool Deobfuscate(List<Block> allBlocks);

}



object[] array = new object[]
{
new int[]
{90,2089875171,90,1318285745,10,90,886806518,10,180},
...
};



object[] array = new object[]
{
...
};

ldc.i4.s <number of members in the object [] array>
newarr [mscorlib]System.Object



object[] array = new object[]
{
...
};

ldc.i4.s <number of members in the object [] array>
newarr [mscorlib]System.Object

instr.OpCode == OpCodes.Newarr && 
instr.Operand.ToString() == "System.Object"



ldtoken field valuetype <int [] array value>
call InitializeArray
stelem.ref

new int[] {  
90,2089875171,90,1318285745,10,90,886806518,10,180
}

byte [] arr = instruction.Operand.InitialValue;



block

block.FallThrough block.Targets[0]

block.Targets[0].FallThrough
or

block.FallThrough.FallThrough



sourceBlock.SetNewFallthrough(targetBlock);

sourceBlock.SetNewTarget(i, targetBlock);
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